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Sodium thiosulfate titrant 0.025N WP69572

IODINE SOLUTION  .025N    1L W2410

Starch Solution, 4L W2277

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report
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Normality2:
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1 PB116336BL 50 14:0901/11/20190.004.904.900.005.00501 0.000.10

2 PB116336BS 50 14:0901/11/201920.802.305.703.405.0050125 2.602.70

3 K1089-01 50 14:1001/11/20194.804.304.300.005.00501 0.600.70

4 K1089-01DUP 50 14:1001/11/20194.644.328.624.305.00501 0.580.68

5 K1089-01MS 50 14:1101/11/201913.603.207.504.305.0050125 1.701.80

6 K1089-01MSD 50 14:1201/11/201913.763.183.180.005.0050125 1.721.82

7 K1089-03 50 14:1301/11/20198.803.803.800.005.00501 1.101.20

8 K1089-05 50 14:1301/11/20198.803.803.800.005.00501 1.101.20

9 K1089-07 50 14:1501/11/20194.804.308.103.805.00501 0.600.70

10 K1089-09 50 14:1601/11/20196.404.104.100.005.00501 0.800.90

11 K1089-11 50 14:1701/11/20194.004.408.504.105.00501 0.500.60
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 K1089-13 50 14:1701/11/20198.323.863.860.005.00501 1.041.14

13 K1089-15 50 14:1801/11/20194.484.348.203.865.00501 0.560.66

14 K1089-17 50 14:1901/11/20194.004.404.400.005.00501 0.500.60

15 K1089-19 50 14:2001/11/20198.803.808.204.405.00501 1.101.20

16 K1089-21 50 14:2101/11/20194.004.404.400.005.00501 0.500.60

17 K1089-23 50 14:2201/11/20194.004.408.804.405.00501 0.500.60
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1


